TiEEH :

g . TRIER  sEERTEEAFMIET=3cm "“131 1.00m?
THRIEH #7 BB B = BB 7B Py 5T
SRR TE m? 1.00 720 720
BOME m? 1.00 50 50
EEEAF T m? 1.00 240 240
1: 3K m> 0.03] 3500 105
WRITE m? 1.00 250 250
SETH(ETERIER) =% 1.00 5 5
m’ B & =t 1370 7t
TR .
g2y . TiRIEE : sEERLTE(ELGFINIE) T=6cm By : 1.00m?
TRIEH Bz BfI HE BB FyEE
SEERTE m? 1.00 620 620
BOME m? 1.00 60 60
EEEL T m? 1.00 240 240
1: 37J</)E/Dé‘;z m> 0.03| 3500 105
HRIE m? 1.00 250 250
B2 TR(EIRENIEFR) = 1.00 5 5
m’° B B 5t 1280 7T
TEEM :
g . TRIER: sEBRRLEEARFMIME) T=6cm By : 1.00m?
TRIEH Bz BfI HE BB RIE 5
SEERTE m? 1.00 620 620
BOME m? 1.00 60 60
EEEL T m? 1.00 240 240
ST R m> 0.04| 1250 50
WRIE m? 1.00 150 150
S TR(EUERIER) B 1.00 10 10
m’ B B 5t 1130 7t
T8 .
. TRRIER  sERRTEEARFMIE) T=8cm BEfi7 : 1.00m’
THRIEE AR Bl HE BE N M5
SERRT1E m? 1.00 680 630
BOME m? 1.00 70 70
EEEAF T m? 1.00 240 240
TR m> 0.04| 1250 50
WRITE m? 1.00 150 150
EE TR(EUERER) =% 1.00 10 10
m° B B &t 1200 7T
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